EARAROBREERT — 2 N— ZABISH—F 2018%8H5H (H) 6E=H4H
TEEESHERSER C1 5% EEE R
[A&E4£] 17 :400,000 @ ~ 2 3#&:120,000 @ ~ 3 #%:60,000  ~ 43#&:40,000™ 5 3&:20,000 @
BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
S S 5 + 8 | LEFE 1:31.8 8-7-7-3 [38.6| — 1 496 | BURTEE] (HH)
13| >¥=a—>ra—> * 56.0 [ @) | B A—b-1-2
R4 8= BTIATA TN~ BRFEHS
= = 44 | FEER 1:31.9 3-3-3-1 |39.4| — 2 | 433 |EFF GH)
2(8[11| hF AT 56.0 (172) 4y |ERHE
RiRY—LTr—=— BV NALTq HESS
N N [BLREE) : -1-1- - HEIEX (BF)
N NEECLEI=P, 09 s 1(.33/;4.)1 1-1-1-2 | 39.8 10 (4_625) /N%%t
LA sk—L B TUYTLRO-X atie
; =5 : 48 | EESRI 1:32.7 4-4-4-5 39.9| — | 11 | 461 |FEESL (FH)
4111 |#1770Y =K 54.0 3) () |Pmft
R:F25> 4 BNgI=ZTIA 2R HBET7— L4
i S B 5 | LE¥ER 1:32.9 7-8-9-6 |39.2| — 9 468 | BIIE— (BH)
5 2 AT AP 54.0 ) (1) |AEAE—ER
L:hxexy BT —TE—% =liztae]
g ZH # 5 | BRER 1:33.1 2-2-2-4 |40.7| — | 3 | 526 |MAEB) (FH)
6|56 FyAAFTY— 56.0 " (o) | P
L:7—-974+—X B:XvRT—KIT—4 HET7— L
e BAMR :33. ~6-5- . - E#EEE (B
71812 27y haX R s 7¢53.0 1(13/32)2 eo5T (%08 ! (4_518) E%Hﬁi
RiFkvvH/Ek R BT —LRS TN SZEHS
—— s EREHH ; -9-8~ - EEEE (B
8 gl ¥ TURL 6 G (11.313/.25) 9-9-8-8 | 40.2 6 (5_039) i
RTSATLREA L BHITTYT7— ke
v+t > 6 | WEES 1:33.6  [10-10-10-10|38.9 | — | 8 | 472 |HFTF (&H)
9|5|5 7 56.0 (1/2) w5 | HLEE
R:TLAITLTY N BiUanNsF—L B 45
N _ *\\VE . — — — p— H_‘:\ %
1017110l 71 —¥4—03> f 5 E?SH_J 1.(313).8 11-11-11-11| 38.6 12 (4_5;9) ELJISI%% ()
R:FaT 4N BT —L¥FaLE b R4S
N > FUSEPN : ~5-6- - FHA (ZH)
17| 7anre 7T 560 [ S IR Y8 | xaime
8T BiVE—-~NAE— el
> 4 4 | HKEE—MA 1:34.3 12-12-12-12| 38.7 | — 5 427 | RER= (FF)
12171 9 jm Ly e RV AR bV 54.0 (172) (-4) pib=YA=Fin
LRAR=3>Fk—L B:A—vrFai—h [ cpse]
® I —F—EBIERL
13=zr= 4,6,11,1,7,12,2,3,8,5,10,9
20—F— 4,6,11,1,7,12,3,2,8,5,10,9
Jo=3r= 4,6,11,1,12,7,3,8,2,5,10,9
A== — 11,4,3,6,1,2,12,8,7,5,10,9
[ F/N=5
B OB 3 200H 714K 3-11 150H % E 3-8 200M &R 3-4-11 2,200
7 B 3 120 3-4 1,180 | | B = 3-11 230M | | 3E=E 3-11-4 7,740
1 120 4-11 2,040 B H# 3-11 390
4 660F

ABICOVWTRDTEEERROODE. TR LIV,



